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3. 1 have a channel of weakly conducting material (a solid rectangular “pipe” which is very long). Outline how
vou would solve for the current demsity inside the copper if 1 put 4 isolated electrodes around this material
with 12 ¥ on one electrode and ground all the other sides. Assume magnetostatics and constant o
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4. A bar magnet is moving at constant speed in free space toward a conducting wire loop. Explain how energy i=
romservedd a8 it moves through the conducting wire loop and how you caleulate it
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i Watch the two video's whose links are found on the part of the wiki devoted 1o this exam or search youtube
for “Uir. Pepper Meets Induction Heater” and “Red-hot lee cube by induction heating.” Explain the physical
mechanism shown in epch video,
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